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1 . EPS Stands for *--
a. Ear nings Per Share

b. Ear:ing Price Stock

8. I r (1-t) helPs to compu te the cost
b. Kd

9. Firm's Cost of Capital is the average cost of

r'-* firtam"e Cg:O

arlis "

(8m)

^fUI

c. Earning per stock
d. Eaming per stake

c. Ko

c.7 .5"/o

a. Ali sources of Finance c. Share capital only
d. All bonowingsb. Share Bonds & Debentures onlY

10. What wi1lbe cost of Debt after tax if company is having 10 % debentures of 100000/- and tar Ittrr' i"

30 o/o ?

d-Kp

d. 10%b.8%
co1 tlt

.1 b the
.A'

a. Global Depositary ReceiPt

b. Fixed rate of dividend

c. 2:7

d. Iraditional Method of Capitai Budgeting;

e. Curent LiabilitY

f. Break Even Point

g. Present Values

h. EBIT IEBT
i. WACC
j. Risk Takers

k. Modern Technique of Capital Budgeting

1. Future Value

1. No Profit No Loss

2. Degree of Financial Leverage

3. Composite cost

ri. GDli
5. Principai * Interest

b. Paybacl< Period

1. Debt EquirY Ratio

E. Banl< Overdraft

9. Preference Shares

eof financial AN

Pa Firm RRR Firm KI(K

Variable

Sales

Fixed Co

400000 420000

60000

100000
00000

and combined

OR

co1 15m
2

-tN

Note: -
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6.

a. Ke
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40000



rl.2 Shivayay Ltd' requires Rs' 3' 00'000/- as investment for a new project. The following three financia'l

Ptan A

E Iu Share

10'% P Share

8'/n Deb entures

lans are

il Liie comPanY EBIT is 1,20,00Ol- U't ut is the earning per share each of the three financial ,1ans?

tax rate to be 50%' CO1(AP) (15nr)

\r.rlirch alternative would You recommend and whY? Assume coz 5nt
Ltd. is as under

3 The tal

Cost of reserves ls Tax

s ComPanY declared a

is 8%

of equity share is 180/- Grorvtit r';ri''

share is 6l- andgrowth rate is 7ori,
1,o

I

2

Sort rce of Finance
1

utv,
valu 0aceshare Ca

70nln Deb entures

trleserves

8L
data:- coz

.-1

.4Aco to 1n one of the ect for e ofas c02

i t-,u aLe required to calculate & comment on the result using following methods

t. Net Present Value 2.ProtitabilitY Index
OR

3,00,000

65,000
60,000
85,000
48,000
70 000

col (AP)
years with

co2 (AP)

5nr

(8m)
value 100/-

(?m)

(7m)

Itl

{l.a (a) Find the future value of 3'00'000 l- after 3 years at l}o/op'a'

Q.,1 (t)) A GOI Bond with coupon rate otf l\o/op'a traving maturity period of 10

ircr. share and mark"i""r." rs'i- per share. Caliulate Yield to Maturity'

Q.5. a) Explain Various Sources of finance'

a;" ;; u*pfui" the Positive & negative effects of F

rite short notes :- (AnY 3)

Public DePosits

Types of Debentures

tl.irniqu.s of CaPital Budgeting

Risk & Retum AnalYsis

Types ofleverages

Co1 (R/ U) (8m)

Investment in India. COl (W U)

co2 (R/ U)
co1 (R/ u)
co2 (R/ U)
col (RJ U)
col (R/ U)

Q.s w
1.

2.

3.

4.

5.

Probabili
Stoch Pr)

I articulars
Boom
Normal
Rccession

PV Factor

60,000
30,000
40,000
36,000

2,00,000

54

Year
1

2

-1

a+

'5

l n vestnrent
r ',rrlr In11ow

-2-

(15m)

&.

under

rate is 40oh.

of Rs. 9l- Per sirare' Market

Plan B

P'ace Value 100/-)-

6,r

0.4
0.5
0.1


